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1. Answer the following as directed : 1×10=10

t°∫t° [É⁄‡Ï§‡ππ [>ÏÉ¢≈‡>Âô‡⁄„ l°¸v°π [É⁄‡ :

(a) What is marginal propensity to

consume?

ö¯‡[îzA° ÎÆ°‡K ö¯Øot°‡ [A°?

(b) What is circular flow of income?

"‡⁄π W°y˚°„⁄ ö¯Ø‡“ [A°?
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(c) Aggregate demand curve is downward

sloping from left to right.

( State True or False )

Œ§¢≥Âk° W°‡[“É‡ ÎπJ‡ §‡*Ú[ö∫π öπ‡ ÎŒÚ‡[ö∫Ó∫ t°∫Ó∫

Î“∫>„⁄‡°˙

( ŒÚW°‡ Î> [≥·‡ [∫J‡ ) 

(d) What is effective demand?

Œ[y˚°⁄ W°‡[“É‡ [A°?

(e) Define multiplier.

P°oA°π Œ}`°‡ [É⁄‡°˙

(f) Define net domestic product.

«°á˝° QπÁ°Ø‡ l°¸;ö‡É>π Œ}`°‡ [É⁄‡°˙

(g) “Supply creates its own demand.” Did

Keynes believe this?

ëëÎô‡K‡Ï> “¸⁄‡π [>\π W°‡[“É‡ [>Ï\ Œı[ ° A°Ïπ°˙íí

ÎA°“¸>ÙÏW° &“¸Ïi°‡ [§≈´‡Œ A°[π[·∫Ï>?
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( 3 )

(h) Mention one determinant of marginal

efficiency of capital.

≥Ë∫ã>π ö¯‡[îzA° A°‡ô¢É¤°t°‡π &i°‡ [>ã¢‡πA° l°¸Ï¿J A°π‡°˙

(i) “Classical theory is based on full

employment equilibrium.”

( State True or False )

ëëŒ}—Ç‡[öt° t°w öËo¢ [>Ï⁄‡K Æ°‡πŒ‡≥∏t°‡π *öπt°
ö¯[t°[À°t°°˙íí

( ŒÚW°‡ Î> [≥·‡ [∫J‡ )

(j) What is autonomous investment?

—¨⁄¥±Èt° [§[>Ï⁄‡K [A°?

2. Answer the following questions : 2×5=10

t°∫π ö¯≈óŒ≥Ë“π l°¸v°π [∫J‡ :

(a) What is capital accumulation?

≥Ë∫ã> "‡“πo [A°?
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(b) Mention two assumptions of classical

theory of employment.

Œ}—Ç‡[öt° "=¢>„[t°π [>Ï⁄‡K t°wπ ÉÂi°‡ "[Æ°ã‡πo‡
l°¸Ï¿J A°π‡°˙

(c) What is the difference between gross

domestic product and gross national

product?

Œ§¢≥Âk° QπÁ°Ø‡ l°¸;ö‡É> "‡πÁ° Œ§¢≥Âk° π‡ °ˆ„⁄ l°¸;ö‡É>π
≥‡\t° ö‡=¢A°∏ [A°?

(d) What is consumption function?

ÎÆ°‡K Û°∫> [A°?

(e) Define supermultiplier.

"[t°P°oA°π Œ}`°‡ [É⁄‡°˙

3. Answer any four from the following

questions : 5×4=20

t°∫π ö¯≈óŒ≥Ë“π öπ‡ [ô ÎA°‡Ï>‡ W¡à[¹i¡à¹ l°¸v°π [∫J‡ :

(a) What are the basic economic activities?

Explain.

≥Ë∫ "=¢Ó>[t°A° A°‡ô¢Œ≥Ë“ [A° [A°? §∏‡J∏‡ A°π‡°˙
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(b) Explain the relationship between

national income and economic welfare.

π‡ °ˆ„⁄ "‡⁄ "‡πÁ° "=¢Ó>[t°A° A°∫∏‡oπ ≥‡\π Œ¥öA¢°

§∏‡J∏‡ A°π‡°˙

(c) Explain Keynes’ criticisms of classical

theory of employment.

Œ}—Ç‡[öt° "=¢>„[t°π [>Ï⁄‡K t°wA° ÎA°“¸>ÙÏW° A°π‡

Œ≥‡Ï∫‡W°>‡Œ≥Ë“ §∏‡J∏‡ A°π‡°˙

(d) Explain the technical attributes of

consumption function.

ÎÆ°‡K Û°∫>π A°‡[πA°π„ P°oŒ≥Ë“ §∏‡J∏‡ A°π‡°˙

(e) Explain the concept of marginal

efficiency of investment.

[§[>Ï⁄‡Kπ ö‡̄[îzA° A°‡ô¢É¤°t°‡π ã‡πo‡Ïi°‡ §∏‡J∏‡ A°π‡°˙

(f) What is accelerator? Explain.

ŒπA° [A°? §∏‡J∏‡ A°π‡°˙
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4. Answer any four of the following questions :

10×4=40

t°∫π ö¯≈óŒ≥Ë“π [ô ÎA°‡Ï>‡ W¡à[¹i¡à¹ l°¸v°π [∫J‡ :

(a) What are the various methods of

measuring national income? Explain

the difficulties in measuring national

income. 5+5=10

π‡ °ˆ„⁄ "‡⁄ Ko>‡π [§[Æ°ƒ öá˝°[t°Œ≥Ë“ [A° [A°? π‡ °ˆ„⁄
"‡⁄ Ko>‡π "ŒÂ[§ã‡Œ≥Ë“ §∏‡J∏‡ A°π‡°˙

(b) Discuss the simple Keynesian model of

income determination. 10

"‡⁄ [>ã¢‡πoπ Œπ∫ ÎA°“¸>ÙW°„⁄ "‡[“¢Ïi°‡ "‡Ï∫‡W°>‡ A°π‡°˙

(c) Discuss the factors affecting

consumption function. What are the

limitations of Keynesian consumption

function? Explain. 5+5=10

ÎÆ°‡K Û°∫>A° ö¯Æ°‡Ø‡[fit° A°π‡ A°‡πA°Œ≥Ë“ "‡Ï∫‡W°>‡
A°π‡°˙ ÎA°“>̧ÙW°„⁄ ÎÆ°‡K Û°∫>π Œ„≥‡§á°̋t°‡Œ≥Ë“ [A° [A°?
§∏‡J∏‡ A°π‡°˙

(d) Discuss the relationship between

marginal efficiency of capital and

marginal efficiency of investment. 10

≥Ë∫ã>π ö¯‡[îzA° É¤°t°‡ "‡πÁ° [§[>Ï⁄‡Kπ ö¯‡[îzA° É¤°t°‡π
≥‡\π Œ¥öA¢° "‡Ï∫‡W°>‡ A°π‡°˙
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(e) Discuss the working of the investment

multiplier. 10

[§[>Ï⁄‡K P°oA°π A°‡ô¢ "‡Ï∫‡W°>‡ A°π‡°˙

(f) Distinguish between gross investment

and net investment. Explain the factors

determining the volume of investment. 10

≥Âk° [§[>Ï⁄‡K "‡πÁ° «°á°̋ [§[>Ï⁄‡Kπ ≥‡\π ö‡=¢A°∏ [>o¢⁄
A°π‡°˙ [§[>Ï⁄‡Kπ ö[π≥‡o [>ã¢‡πo A°π‡ l°¸ö‡É‡>Œ≥Ë“
§∏‡J∏‡ A°π‡°˙
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